No.	ODOT	ODOT Description	Units	Bid Form Qty.	Engineer's Estimate		Archer Exc	avating Co	Brennstuhl Construction, Inc.	
NO.	Item No.	Description	Units		Unit Price	Total Price	Unit Price	Total Price	Unit Price	Total Price
1	201	CLEARING AND GRUBBING	LS	1	\$11,000.00	\$11,000.00	\$600.00	\$600.00	\$6,028.00	\$6,028.00
2	202	STRUCTURE REMOVED	LS	1	\$5,500.00	\$5,500.00	\$5,800.00	\$5,800.00	\$9,042.00	\$9,042.00
3	203	EXCAVATION	CY	1,050	\$16.50	\$17,325.00	\$12.00	\$12,600.00	\$4.31	\$4,525.50
4	203	EMBANKMENT	CY	1,018	\$22.00	\$22,396.00	\$16.00	\$16,288.00	\$27.98	\$28,483.64
5	204	SUBGRADE COMPACTION	SY	111	\$11.00	\$1,221.00	\$12.00	\$1,332.00	\$5.43	\$602.73
6	304	AGGREGATE BASE	CY	19	\$132.00	\$2,508.00	\$45.00	\$855.00	\$142.47	\$2,706.93
7	441	ASPHALT CONCRETE SURFACE COURSE, TYPE 1 (448) PG64-22	CY	5	\$363.00	\$1,815.00	\$400.00	\$2,000.00	\$1,531.40	\$7,657.00
8	441	ASPHALT CONCRETE INTERMEDIATE COURSE, TYPE 1 (448) PG64 22	CY	8	\$363.00	\$2,904.00	\$280.00	\$2,240.00	\$1,107.13	\$8,857.04
9	601	ROCK CHANNEL PROTECTION, TYPE B WITH FILTER	CY	17	\$137.50	\$2,337.50	\$131.00	\$2,227.00	\$217.47	\$3,696.99
10	611	7 FT X 6 FT CONDUIT, TYPE A, 706.05, AS PER PLAN	FT	100	\$1,100.00	\$110,000.00	\$1,242.00	\$124,200.00	\$880.85	\$88,085.00
11	611	CONDUIT MISC. NO. 2 STONE BACKFILL (INSIDE OF TRENCH)	CY	21	\$110.00	\$2,310.00	\$60.00	\$1,260.00	\$159.07	\$3,340.47
12	611	CONDUIT MISC. NO. 57 STONE BACKFILL (INSIDE OF TRENCH)	CY	94	\$137.50	\$12,925.00	\$117.02	\$10,999.88	\$91.07	\$8,560.58
13	623	CONSTRUCTION LAYOUT STAKES AND SURVEYING	LS	1	\$2,750.00	\$2,750.00	\$3,400.00	\$3,400.00	\$1,800.00	\$1,800.00
14	624	MOBILIZATION	LS	1	\$11,000.00	\$11,000.00	\$18,818.00	\$18,818.00	\$13,242.00	\$13,242.00
15	614	MAINTAINING TRAFFIC	LS	1	\$2,750.00	\$2,750.00	\$2,260.00	\$2,260.00	\$1,507.00	\$1,507.00
16	614	DETOUR SIGNING	LS	1	\$5,500.00	\$5,500.00	\$1,821.00	\$1,821.00	\$1,507.00	\$1,507.00
17	207	TEMPORARY SEDIMENT & EROSION CONTROL	LS	1	\$2,750.00	\$2,750.00	\$860.00	\$860.00	\$3,600.00	\$3,600.00
18	659	SEEDING AND MULCHING	SY	590	\$5.50	\$3,245.00	\$2.00	\$1,180.00	\$2.80	\$1,652.00
	TOTAL					\$220,236.50		\$208,740.88		\$194,893.88

No.	ODOT	ODOT Description	Units	Bid Form Qty.	Engineer's Estimate		Buds		Kinsey Excavating & Trucking	
NO.	Item No.	Description	Onits		Unit Price	Total Price	Unit Price	Total Price	Unit Price	Total Price
1	201	CLEARING AND GRUBBING	LS	1	\$11,000.00	\$11,000.00	\$350.00	\$350.00	\$6,785.00	\$6,785.00
2	202	STRUCTURE REMOVED	LS	1	\$5,500.00	\$5,500.00	\$20,000.00	\$20,000.00	\$9,470.00	\$9,470.00
3	203	EXCAVATION	CY	1,050	\$16.50	\$17,325.00	\$10.00	\$10,500.00	\$28.00	\$29,400.00
4	203	EMBANKMENT	CY	1,018	\$22.00	\$22,396.00	\$10.00	\$10,180.00	\$26.00	\$26,468.00
5	204	SUBGRADE COMPACTION	SY	111	\$11.00	\$1,221.00	\$10.00	\$1,110.00	\$3.00	\$333.00
6	304	AGGREGATE BASE	CY	19	\$132.00	\$2,508.00	\$120.00	\$2,280.00	\$293.00	\$5,567.00
7	441	ASPHALT CONCRETE SURFACE COURSE, TYPE 1 (448) PG64-22	CY	5	\$363.00	\$1,815.00	\$1,000.00	\$5,000.00	\$1,367.35	\$6,836.75
8	441	ASPHALT CONCRETE INTERMEDIATE COURSE, TYPE 1 (448) PG64 22	CY	8	\$363.00	\$2,904.00	\$1,000.00	\$8,000.00	\$941.85	\$7,534.80
9	601	ROCK CHANNEL PROTECTION, TYPE B WITH FILTER	CY	17	\$137.50	\$2,337.50	\$120.00	\$2,040.00	\$195.00	\$3,315.00
10	611	7 FT X 6 FT CONDUIT, TYPE A, 706.05, AS PER PLAN	FT	100	\$1,100.00	\$110,000.00	\$840.00	\$84,000.00	\$850.46	\$85,046.00
11	611	CONDUIT MISC. NO. 2 STONE BACKFILL (INSIDE OF TRENCH)	CY	21	\$110.00	\$2,310.00	\$110.00	\$2,310.00	\$222.71	\$4,676.91
12	611	CONDUIT MISC. NO. 57 STONE BACKFILL (INSIDE OF TRENCH)	CY	94	\$137.50	\$12,925.00	\$110.00	\$10,340.00	\$65.87	\$6,191.78
13	623	CONSTRUCTION LAYOUT STAKES AND SURVEYING	LS	1	\$2,750.00	\$2,750.00	\$2,500.00	\$2,500.00	\$3,126.00	\$3,126.00
14	624	MOBILIZATION	LS	1	\$11,000.00	\$11,000.00	\$10,400.00	\$10,400.00	\$10,850.00	\$10,850.00
15	614	MAINTAINING TRAFFIC	LS	1	\$2,750.00	\$2,750.00	\$2,500.00	\$2,500.00	\$1,500.00	\$1,500.00
16	614	DETOUR SIGNING	LS	1	\$5,500.00	\$5,500.00	\$2,500.00	\$2,500.00	\$5,895.00	\$5,895.00
17	207	TEMPORARY SEDIMENT & EROSION CONTROL	LS	1	\$2,750.00	\$2,750.00	\$100.00	\$100.00	\$2,500.00	\$2,500.00
18	659	SEEDING AND MULCHING	SY	590	\$5.50	\$3,245.00	\$5.00	\$2,950.00	\$7.50	\$4,425.00
	TOTAL					\$220,236.50		\$177,060.00		\$219,920.24

No.	ODOT	ODOT Description	Units	Bid Form Qty.	Engineer's Estimate		Lafferty Contracting, LLC		Layton, Inc.	
NO.	Item No.	Description	Units		Unit Price	Total Price	Unit Price	Total Price	Unit Price	Total Price
1	201	CLEARING AND GRUBBING	LS	1	\$11,000.00	\$11,000.00	\$1,500.00	\$1,500.00	\$8,447.42	\$8,447.42
2	202	STRUCTURE REMOVED	LS	1	\$5,500.00	\$5,500.00	\$4,000.00	\$4,000.00	\$3,663.57	\$3,663.57
3	203	EXCAVATION	CY	1,050	\$16.50	\$17,325.00	\$18.50	\$19,425.00	\$7.17	\$7,528.50
4	203	EMBANKMENT	CY	1,018	\$22.00	\$22,396.00	\$25.00	\$25,450.00	\$6.72	\$6,840.96
5	204	SUBGRADE COMPACTION	SY	111	\$11.00	\$1,221.00	\$10.00	\$1,110.00	\$3.80	\$421.80
6	304	AGGREGATE BASE	CY	19	\$132.00	\$2,508.00	\$155.00	\$2,945.00	\$91.72	\$1,742.68
7	441	ASPHALT CONCRETE SURFACE COURSE, TYPE 1 (448) PG64-22	CY	5	\$363.00	\$1,815.00	\$1,400.00	\$7,000.00	\$444.15	\$2,220.75
8	441	ASPHALT CONCRETE INTERMEDIATE COURSE, TYPE 1 (448) PG64 22	CY	8	\$363.00	\$2,904.00	\$975.00	\$7,800.00	\$320.24	\$2,561.92
9	601	ROCK CHANNEL PROTECTION, TYPE B WITH FILTER	CY	17	\$137.50	\$2,337.50	\$235.00	\$3,995.00	\$228.42	\$3,883.14
10	611	7 FT X 6 FT CONDUIT, TYPE A, 706.05, AS PER PLAN	FT	100	\$1,100.00	\$110,000.00	\$980.00	\$98,000.00	\$1,463.35	\$146,335.00
11	611	CONDUIT MISC. NO. 2 STONE BACKFILL (INSIDE OF TRENCH)	CY	21	\$110.00	\$2,310.00	\$185.00	\$3,885.00	\$234.26	\$4,919.46
12	611	CONDUIT MISC. NO. 57 STONE BACKFILL (INSIDE OF TRENCH)	CY	94	\$137.50	\$12,925.00	\$120.00	\$11,280.00	\$92.93	\$8,735.42
13	623	CONSTRUCTION LAYOUT STAKES AND SURVEYING	LS	1	\$2,750.00	\$2,750.00	\$5,000.00	\$5,000.00	\$1,874.25	\$1,874.25
14	624	MOBILIZATION	LS	1	\$11,000.00	\$11,000.00	\$8,500.00	\$8,500.00	\$11,241.49	\$11,241.49
15	614	MAINTAINING TRAFFIC	LS	1	\$2,750.00	\$2,750.00	\$3,500.00	\$3,500.00	\$1,500.00	\$1,500.00
16	614	DETOUR SIGNING	LS	1	\$5,500.00	\$5,500.00	\$3,500.00	\$3,500.00	\$7,344.59	\$7,344.59
17	207	TEMPORARY SEDIMENT & EROSION CONTROL	LS	1	\$2,750.00	\$2,750.00	\$1,500.00	\$1,500.00	\$1,301.73	\$1,301.73
18	659	SEEDING AND MULCHING	SY	590	\$5.50	\$3,245.00	\$5.00	\$2,950.00	\$6.43	\$3,793.70
	TOTAL					\$220,236.50		\$211,340.00		\$224,356.38

No.	ODOT	ODOT Description	Units	Bid Form Qty.	Engineer's Estimate		Luburgh, Inc		McConnell Contracting	
NO.	Item No.	Description	Onits		Unit Price	Total Price	Unit Price	Total Price	Unit Price	Total Price
1	201	CLEARING AND GRUBBING	LS	1	\$11,000.00	\$11,000.00	\$1,000.00	\$1,000.00	\$3,000.00	\$3,000.00
2	202	STRUCTURE REMOVED	LS	1	\$5,500.00	\$5,500.00	\$5,000.00	\$5,000.00	\$13,000.00	\$13,000.00
3	203	EXCAVATION	CY	1,050	\$16.50	\$17,325.00	\$10.00	\$10,500.00	\$15.00	\$15,750.00
4	203	EMBANKMENT	CY	1,018	\$22.00	\$22,396.00	\$10.00	\$10,180.00	\$15.00	\$15,270.00
5	204	SUBGRADE COMPACTION	SY	111	\$11.00	\$1,221.00	\$25.00	\$2,775.00	\$2.00	\$222.00
6	304	AGGREGATE BASE	CY	19	\$132.00	\$2,508.00	\$100.00	\$1,900.00	\$105.00	\$1,995.00
7	441	ASPHALT CONCRETE SURFACE COURSE, TYPE 1 (448) PG64-22	CY	5	\$363.00	\$1,815.00	\$675.00	\$3,375.00	\$600.00	\$3,000.00
8	441	ASPHALT CONCRETE INTERMEDIATE COURSE, TYPE 1 (448) PG64 22	CY	8	\$363.00	\$2,904.00	\$675.00	\$5,400.00	\$600.00	\$4,800.00
9	601	ROCK CHANNEL PROTECTION, TYPE B WITH FILTER	CY	17	\$137.50	\$2,337.50	\$70.00	\$1,190.00	\$150.00	\$2,550.00
10	611	7 FT X 6 FT CONDUIT, TYPE A, 706.05, AS PER PLAN	FT	100	\$1,100.00	\$110,000.00	\$1,200.00	\$120,000.00	\$1,240.00	\$124,000.00
11	611	CONDUIT MISC. NO. 2 STONE BACKFILL (INSIDE OF TRENCH)	CY	21	\$110.00	\$2,310.00	\$150.00	\$3,150.00	\$95.00	\$1,995.00
12	611	CONDUIT MISC. NO. 57 STONE BACKFILL (INSIDE OF TRENCH)	CY	94	\$137.50	\$12,925.00	\$150.00	\$14,100.00	\$95.00	\$8,930.00
13	623	CONSTRUCTION LAYOUT STAKES AND SURVEYING	LS	1	\$2,750.00	\$2,750.00	\$1,000.00	\$1,000.00	\$750.00	\$750.00
14	624	MOBILIZATION	LS	1	\$11,000.00	\$11,000.00	\$1,000.00	\$1,000.00	\$15,000.00	\$15,000.00
15	614	MAINTAINING TRAFFIC	LS	1	\$2,750.00	\$2,750.00	\$1,000.00	\$1,000.00	\$5,000.00	\$5,000.00
16	614	DETOUR SIGNING	LS	1	\$5,500.00	\$5,500.00	\$8,000.00	\$8,000.00	\$3,500.00	\$3,500.00
17	207	TEMPORARY SEDIMENT & EROSION CONTROL	LS	1	\$2,750.00	\$2,750.00	\$3,000.00	\$3,000.00	\$500.00	\$500.00
18	659	SEEDING AND MULCHING	SY	590	\$5.50	\$3,245.00	\$4.00	\$2,360.00	\$6.00	\$3,540.00
	TOTAL					\$220,236.50		\$194,930.00		\$222,802.00

No.	ODOT	Description	Units	Bid Form Qty.	Engineer's Estimate		Muskingum Site Services		V <sub>3</sub> Construction Group. Ltd	
NO.	Item No.	Description	Units		Unit Price	Total Price	Unit Price	Total Price	Unit Price	Total Price
1	201	CLEARING AND GRUBBING	LS	1	\$11,000.00	\$11,000.00	4,500.00	4,500.00	2,000.00	2,000.00
2	202	STRUCTURE REMOVED	LS	1	\$5,500.00	\$5,500.00	5,520.00	5,520.00	5,400.00	5,400.00
3	203	EXCAVATION	СҮ	1,050	\$16.50	\$17,325.00	20.00	21,000.00	41.00	43,050.00
4	203	EMBANKMENT	СҮ	1,018	\$22.00	\$22,396.00	26.00	26,468.00	78.00	79,404.00
5	204	SUBGRADE COMPACTION	SY	111	\$11.00	\$1,221.00	31.50	3,496.50	8.00	888.00
6	304	AGGREGATE BASE	СҮ	19	\$132.00	\$2,508.00	60.00	1,140.00	140.00	2,660.00
7	441	ASPHALT CONCRETE SURFACE COURSE, TYPE 1 (448) PG64-22	СҮ	5	\$363.00	\$1,815.00	690.00	3,450.00	600.00	3,000.00
8	441	ASPHALT CONCRETE INTERMEDIATE COURSE, TYPE 1 (448) PG64 22	СҮ	8	\$363.00	\$2,904.00	690.00	5,520.00	740.00	5,920.00
9	601	ROCK CHANNEL PROTECTION, TYPE B WITH FILTER	СҮ	17	\$137.50	\$2,337.50	157.00	2,669.00	400.00	6,800.00
10	611	7 FT X 6 FT CONDUIT, TYPE A, 706.05, AS PER PLAN	FT	100	\$1,100.00	\$110,000.00	945.00	94,500.00	805.00	80,500.00
11	611	CONDUIT MISC. NO. 2 STONE BACKFILL (INSIDE OF TRENCH)	СҮ	21	\$110.00	\$2,310.00	215.00	4,515.00	80.00	1,680.00
12	611	CONDUIT MISC. NO. 57 STONE BACKFILL (INSIDE OF TRENCH)	СҮ	94	\$137.50	\$12,925.00	85.00	7,990.00	80.00	7,520.00
13	623	CONSTRUCTION LAYOUT STAKES AND SURVEYING	LS	1	\$2,750.00	\$2,750.00	2,500.00	2,500.00	1,600.00	1,600.00
14	624	MOBILIZATION	LS	1	\$11,000.00	\$11,000.00	6,500.00	6,500.00	3,800.00	3,800.00
15	614	MAINTAINING TRAFFIC	LS	1	\$2,750.00	\$2,750.00	5,500.00	5,500.00	1,600.00	1,600.00
16	614	DETOUR SIGNING	LS	1	\$5,500.00	\$5,500.00	3,000.00	3,000.00	8,500.00	8,500.00
17	207	TEMPORARY SEDIMENT & EROSION CONTROL	LS	1	\$2,750.00	\$2,750.00	4,500.00	4,500.00	1,698.00	1,698.00
18	659	SEEDING AND MULCHING	SY	590	\$5.50	\$3,245.00	8.00	4,720.00	12.00	7,080.00
	TOTAL					\$220,236.50		\$207,488.50		\$263,100.00